NECAP Science Grade 11 Reference Sheet
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Electromagnetic Spectrum
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Formulas
Velocity v = velocity Universal Gravitation F = Force
_NH TN Ax x = position (x, initial; x, final) o mymy G = Universal Gravitational
v= h—t, Ar Ax = change in position gravity 7 Constant (6.67 x 10~'! Nm?*/kg?)
t = time (¢, initial; £, final) m, = mass of first object
At = change in time m, = mass of second object
Acceleration a = acceleration d = distance between center of m,
Vo=V Ap v = velocity and m,
“= -t At Av = change in velocity Momentum p = momentum
¢t = time p=my M = mass
At = change in time v = velocity
Constant Acceleration of Free- | y = vertical distance traveled Heat O = heat transferred
Falling Objects g = acceleration due to gravity (10 m/s?) 0 =mc (T,—-T,) = mcAT m = mass
y= lgtz t =time ¢ = specific heat (water =4 J/g « °C)
2 v = velocity T = temperature (7 initial; 7, final)
v=at a = acceleration AT = change in temperature
Force F = Force Density D = density
F=ma m = mass p=m m = mass
a = acceleration Vv V = volume




L1292 l0kese | 66085z | S60'262 | es0ese | osolse | oozve | ocozve | 190eve | v90vve wﬁgm 620862 | 8€0'tez | 8£02ET S9119S apIunoy
7T | ON |[PIN (W4 | ST | JO | )9 | WD | WY | nd n (ed | Ul
€01 20l ] 001 66 86 16 96 56 6 €6 26
wnjouaJme]| wniggqoN |wniasjepusjy| wniwie4 | wnuielsuig | wnjuioyed | wnyexieg wnuny wnpuswy | wnuoind | wniundan | wniuesn  fwniugoejoid|  wnuoyL
196°7LL voest | ve6'891 9z'29+ | oe6voL wmme G26'85 1 SZ'/GL | S96'ISI 9€°0G+ erevrl | vevwl | soeovk | SHLOvE S9119S aplueylue]
N7 | gA Wl | 413 | OH qL | PO | N3 |ws | wd| PN | 4d | @
¥9 €9 29 19 09 6S 85
wniein wnigiepA | wninyy wnig.3 wnjwjoH Es_woain_ wnigie] | wnuopes | wnidong | wnuewes |wniyawold | wniwAposN (wniwAposseld  wnia)
(e62) (61'682) (L1sse) | (9ros2) | (or18e) | (soz2) | (shis2) (0z2) (erze) | (evs9e) | (2rs9e) | 820/ee | S2092c | 020°€ee
AT 4 up | By (sa | WN | sSH (ug | bs | aa | ¥ OV [ ed | 14
oLl vLL gLl LLL oLl 601 801 101 901 S0l Yol
WNLOWIBAI wninoI8|4 wnjoiusado) | wnjuabiuaoy |wnppeiswieq| wnuauyspy | wnissey wnuyog |wnibiogesg| wniugng wnipiopaying)  Wniuoy wnipey wniouelq
81072 | 8.6602 | 286'802 086802 | 2202 £8ev02 | 6900z | 296961 80°S6} 2226} 2061 102981 veesl | sveost | 6veLl o06'8el | leeel | S06zEl
ug ( 1v | od 19 | dd 1L mw_ ny ( id 1] SO (9 | M m,.r iH eq (eg | s)
Ll v L S5
uopey auneisy | wniuojod yinwsig pea wnijrey L Ainasspy plon wnuie|d wnipy| wnwsg | wnwuayy | ussbuny | wnpeue] | wniuey § wnueyue]| wnueg wnisen
06z lel | vo6'9zk | 092k 18012 | oLLstE 8Ll LeLL me:e Zr'90l 906201 L0°10} 106'L6 656 906'26 22’16 906'88 29°/8 897°G8
9X | 91 | dS | uUS uj PO Pd | yd Ny | Ol o_>_ aN | 41Z A 1S | 4
s €5 2s X3 0s 6 -1 v 9p St 24 ey Ly ov 6€ 18
uousy auIpo| wnunjiel | Auownuy urp wnipuj wniwpe) 1BNIS wnipejled | wnipoyy | wniusyiny | winiieuyos | Escovg_os_ wnigqoiN | wniuoduz WNURA wnpuolls | wnipigny
08'€8 06°6. 96'8. °67L 192 £2.°69 6€°'59 9v5'€9 £69'85 ££6'85 1855 8667 966'1S 2608 88'L¥ 956'77 8007 860'6¢
D |18 [ 9S | SVY | ®D (eH | uz :0 IN oo o4 | UN | 1D A 1L | 9S | D A
9€ 92 S ve €2 A4 12 02 6l
uojdAsy sulwolg | wnius|es olugsly  wniuewiey | wnijen auiz B&oo [9%OIN ﬂ_mgoo uol| assuebuep\ | wniwoly) | wnipeuep | wniuey] | wnipueds | wnioe) | wnisseiod
876°6¢ 8G1'5E 990°2¢ 16108 980'8¢ 28692 S0EYe 06622
v | 1D S d IS iv | 911 8l «— glllIAN — gllA gIN gaA daAl g1l | 6y | eN
8 Ll 9l Sl vl el zl L
uobiy auloyn injng  |snioydsoyd |  uoaiis wnuiwnyy wnisaubepy | wnipos
080z | 9668+ | 666G+ | 00wl 102 TI8or | woo | ———ssen ooy 2106 1769
NldoIN1 €8 °F | 4
v
uosN aulon|4 uabAxQ usboniN uogue) uolog I  E— _ODE>W wnyjAieg wniyin
€007 8001
9H |VIIAN VIN VA VAl VI L —~+——JaquinN d1woly vl H
4 !
wnijeH cm@o._b\»I —+——oaweN ueBoip/
VY A LA
8l Ll 91 Gl 143 €l cl L 1] 6 8 L 9 S 14 € 4 I
dnouy

SIN3N313 3HL 40 3719V.1 21a0id3d

pouad



